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QUESTION 1

The HR.DEPARTMENTS table is the parent of the HR.EMPLOYEES table. The EMPLOYEES.DEPARTMENT_ID
column has a foreign key constraint with the ON DELETE CASCADE option that refers to the
DEPARTMENTS.DEPARTMENT_ID column. An index exists on the DEPARTMENTS.DEPARTMENT_ID column. A
transaction deletes a primary key in the DEPARTMENTS table, which has child rows in the EMPLOYEES table. 

Which statement is true? 

A. The transaction acquires a table lock only on the DEPARTMENTS table until the transaction is complete. 

B. The transaction acquires a table lock on the DEPARTMENTS table. This lock enables other sessions to query but not
update the DEPARTMENTS table until the transaction on the DEPARTMENTS table is complete. 

C. The transaction acquires a table lock on the EMPLOYEES table. This lock enables other sessions to query but not
update the EMPLOYEES table until the transaction on the DEPARTMENTS table is complete. 

D. Only the rows that are deleted in the DEPARTMENTS and EMPLOYEES tables are locked until the transactions on
the DEPARTMENTS table is complete. 

Correct Answer: C 

 

QUESTION 2

Which three are true about the default database buffer cache? (Choose three.) 

A. Buffers containing block images may be selected for reuse based only on a Least Recently Used (LRU) algorithm. 

B. It is in the fixed area of the SGA. 

C. Its buffers can contain data block images for blocks that have a corresponding image in a data file. 

D. Buffers containing block images may be selected for reuse based only on a touch count algorithm. 

E. It can contain block images only for database blocks whose block size is equal to the buffer size. 

F. The keep and recycle cache memory is sub-allocated from memory allocated to the default buffer cache. 

G. Its buffers can contain data block images for blocks that have no corresponding image in a data file. 

Correct Answer: BFG 

 

QUESTION 3

Examine the following parameters for a database instance: 

MEMORY_MAX_TARGET=0 MEMORY_TARGET=0 SGA_TARGET=0 PGA_AGGREGATE_TARGET=500m 

Which three initialization parameters are not controlled by Automatic Shared Memory Management (ASMM)? (Choose
three.) 
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A. LOG_BUFFER 

B. SORT_AREA_SIZE 

C. JAVA_POOL_SIZE 

D. STREAMS_POOL_SIZE 

E. DB_16K_CACHE_SZIE 

F. DB_KEEP_CACHE_SIZE 

Correct Answer: AEF 

Manually Sized SGA Components that Use SGA_TARGET Space SGA Component, Initialization Parameter / The log
buffer LOG_BUFFER / The keep and recycle buffer caches DB_KEEP_CACHE_SIZE DB_RECYCLE_CACHE_SIZE /
Nonstandard block size buffer caches DB_nK_CACHE_SIZE 

Note: 

* 

In addition to setting SGA_TARGET to a nonzero value, you must set to zero all initialization parameters listed in the
table below to enable full automatic tuning of the automatically sized SGA components. 

* 

Table, Automatically Sized SGA Components and Corresponding Parameters 

 

QUESTION 4

In which situations does the Database Writer process (DBWn) write to data files? (choose two). 

A. when the RMAN recovery process starts 

B. when a user process commits a transaction 

C. when a tablespace is made read-only or taken offline 

D. when PMON cleans up dirty buffers in the database buffer cache 

E. when clean buffers for reading new blocks into the database buffer cache are not found easily 

Correct Answer: BD 
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References: https://docs.oracle.com/cd/B19306_01/server.102/b14220/process.htm 

 

QUESTION 5

Which statement is true regarding the DEFAULT profile? 

A. The values assigned to the resource limits and password parameters in the default profile can be altered. 

B. A different DEFAULT profile can be created before each user in a database. 

C. It can be dropped and recreated. 

D. it must be explicitly assigned to the user. 

Correct Answer: A 
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